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Practice : Multlpllcatlon answer is a product.
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Distributive Property ) ﬂffgﬁi s

property to simplify variable {
According to the Distributive Property, you distribute or “pass | expressions.
out a multlpllcation to each part of a sum or difference in

.

In 2 a+3 + 6, we “pass out” the 2 by multiplying it by both the a and the 3.

Multiply 6(x —9) Multiply=3(h + 2)
6(x) — 6(9) -3(h) + -3(2)
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Arithmetic Algebraic

£ Order of Operations ) Distributive property

7(6=4) @) -2 (x +4)

7(2 7(6) - 7(4) =2(x) +~2(4)
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Practice

Use the distributive property to simplify. o
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